RKkEE

EH SHM4FE BRBEDHEHMNE

A | B |’EBA| ® H i = A ol B -
4 |20 0 |3fF& 1[alH AB XK 750, 000 750, 000
6 [ 23| 9 |=%E BIEER 47Uy k- 485 |REREB EE = 5,995 744, 005
1113 9 |=%E BIEE #T7Ly k589 RREF EE &= 5,995 138,010
7120 ] 0 [Xft& 2[HEE AB K 150, 000 1,488,010
8 |23 9 [E%E BIEE (47Lyk-6A%) RRE B &= 5,995| 1,482,015
9 8 9 |EHBE oA FHew AR B 3 770] 1,481,245
9 8 1 (BHEE HHE AR H = AR E A 50, 000| 1,431,245
9 |27 9 |=%E BIER BJLy R-T1AS) |[REREB EE R 5,995] 1,425,250
9 [30] 5 [EHEAZREBARK AR E A 2,500( 1,422,750
10 20 O [ZXft& 3[EE AB XK 150, 000 2,172,750
10|21 9 |=HE EEE (4TLv k889 RREB OLEE &K= 5,995( 2,166, 755
11|24 9 |=HE BIER (ATJLy k-9A) |[REREB EE R 5,995] 2,160, 760
12120 ] 9 [=%E BIEE (A7Lv k- 10AS) |[KREB A R 5,995| 2,154,765
1120 0 |Zxf+HE 4[EH AB XK 750, 000 2,904, 765
1130 9 |B5%%& BIEE (3TLy 1188 |(RRE EE &= 5,995| 2,898,770
2 |24 9 |=%E BEBE (4T7Ly 12859 |REREB EE SRZ 5,995| 2,892,775
3|14 9 |=%E BEE (2JLy 17384 |[RREB K BT 17,985 2,874,790

3, 000, 000 125,210 2,874,790
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